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1. Two of Tom, Dick and Harry are musicians. Shorter of Tom and Dick is the older of the musicians, while the younger of Dick and Harry is the shorter of the musicians. Also, the taller of Tom and Harry is the younger of musicians. Who are the two musicians?

A. Tom & Harry
B. Dick & Harry
C. Tom & Dick
D. Improper data

E. Data Insufficient.

2. B says that his mother is the only daughter of A’s mother. How is A related to B?

A. son

B. Mother
C. father
D. Aunt
E. uncle.

3. The sides of a triangle field are 2646,5157,& 5634 m. Find the greatest length of the tape by which the three sides may be measured completely.

A. 12
B.9
C.10
D. 11
E. None

4. Consider the following addition problem:
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Each of the digits 1,2,3,4,5,6,7,8 and 9 is represented by a different letter in the above addition. They are positioned above so that each of A+B+C, C+D+E, E+F+G is equal to 13. What digit does E represent?

A.1
B. 2
C. 4
D. 9
E. 3

5. The ratio of milk to water in a 20 litre mixture is  3 : 1. How much milk should be added so that this ration is 4 : 1?

A. 5 lit

B. 4 lit

C. 5.5 lit 
D. 6 lit 
E. None of above.

6. My house number has a number such that

* If it is not a multiple of 3, then it is a number from 50 through 59.

* If it is not a multiple of 5, then it is a number from 60 through 69.

* If it is not a multiple of 10, then it is a number from 70 through 79.

What is my house number?

A. 57 
B. 50 
c. 55 
D. 70 
E. 65

7. A car covers a distance of 420 km. at a constant speed. It will take 1.4 hrs more if the speed is 10 kmph less. What is its speed?

A. 70kmph 
B. 65 kmph 
C. 50 kmph 
D. 60 kmph
E. data insufficient.

8. ABC is an isosceles triangle with AB=AC=6 cm. The bisector of angle A meets BC at D. If AD= 3 root of 2, find BC.

A. 4.242 
B. 6 
C. 8.484
D. 4 
E.7

9. There were 56 handshakes in a party . Assuming each person has to shake hands with every other and the other person needs to reciprocate, how many people were present?

A. 28 
B. 8 
C.9 
D. 7
E. cannot be determined

10. If x, y, z are consecutive non-zero integers  and if x<y<z, which of the following must always be positive odd integer?

A. x-y-z
B. xy+ z
C. x+y-z
D. xz-y
E. x+y+z.

11. For the dinner arranged by IBM, 240 guests were estimated. The contractor thus fixed a price that would give him 12.5% profit. 30 people failed to turn up and the remaining people paid the fixed price for their dinner. The contractor thus lost Rs. 100. Find the price fixed per person.

A. 20
B.25
C.30
D.32
E. 45

12. Sarang, who can build a house in 20 days, took 76 days to build 7 houses when Narang joined him after 28 days. Find how long Narang takes to build a house.

A. 12 days
B. 15 days
C. 18 days
D. 20 days
E.22 days.

13. If a cylinder is melted, how many small cylinders can be formed from the molten metal having 1/10th the height?

A. 10
 B. 100 
C. 1000 
D. 10000
 E. none of these.

14. A varies in direct proportion to the nth power of B. If log A is plotted on the Y-axis and log B on the X-axis, what would the curve look like ?

A. a Circle.
B. A U shaped curve with vertex at origin.
C. a St.line
D. a V shaped curve with vertex at origin
 
E. an ellipse.

15. If the arithmetic and Geometric means of two numbers are 10 and 8 respectively, one of the numbers is

A. 16
B. 18
C. 8
D.9
E.sqrt(18).

16. Suppose 5 monkeys take 5 min to eat 5 bananas. How many monkeys would it take to eat 20 bananas in 20 min.

a. 5
 b. 2
c. 10
 d. 20
 e. 4

17. Pipe A can fill a tank in 30 min. pipe B can fill it in 20 min. If ¾ of the tank is filled by pipe B and afterwards both are opened, how much total time is required to fill the total tank completely?

a. 12 
b. 15
c. 18
 d. 21 
e. 50

18. After sis years the ages of two brothers will be in the ratio of 5:6. Six years ago their ages were in the ratio of 3:4. What is the present age of younger brother?

a.18
b.24
c.15
d.16
e.12

19. If the letters B,O,X,E and R are picked randomly to form a 5 letter word, what is the probability of getting the word BOXER?

a.1/4
b.1/5
c.1/24
d.5/120
e.1/120

20.In a place, every one tells two answers to a question, one of which is correct and the other is always wrong. Assume that your boat stolen and you questioned three inhabitants and their replies are:

JOHN: I did not do it. Mathew did not do it.

MATHEW: I did not do it. Krishna did not do it.

KRISHAN: I did not do it. I do not know who did it.

Who is thief?

a. JOHN
b.MATHEW
c.KRISHNA
d.NONE
e.Data insufficient

21. what is the value of a in the following code snippet, at the end?

Main()

{


a=8; b=10; a=a^b; a=a&b; b=a|b;

}

a.8
b.10
c.18
d.2
e.16

22. In the following C code, what is the output?

 int main()

{



char chprev=23;

char ch=””[0];

char chnext=56;

printf(“%d”,ch);

return 0;

}

a.core dump
b.0
c.42
d.undefined value
e.23

23. what is the likely output if we try to run this piece of C Code?


For(int i=0,j=0;i<10,j<10;i++,j+); printf(“%d”.j);

a. Compilation error
b.0 1 2 3 4 5 6 7 8 9 c.9
d.10 
e.none

24. what is pure virtual function?

a. A function which only name and no body

b. A virtual function with only name and body only

c. A function with no name and only body

d. A virtual function with only name and assigned to zero

e. A function which has the name “pure virtual” prefixed.

25. What does the following do?

 main()

{


int a=40; int &b=a; a=30; printf(“%d”,b);

}

a.Compilation error 
b.30
c.40
d.Run time error
e.none.

26. Which command is used to find the status of a port on a machine?

a.netstat
b.route
c.net
d.stat
e. netsync

27. In the following C code, what is the output?

 main()

{


char *p=”/str/rmp/str”;


char *p1;


p1=strtok(p,”/”);

while(p1!=NULL)

{


p1=strtok(NULL,”/”);


if(p1!=NULL)


printf(“%s”,p1);

}

}

A.Compilation error B.str rmp str
c.Run time error
D.NULL
E.rmp str

28. Which of these is not a Unix shell?

a. rsh
b. nsh
c. csh
d. Bash
e.Ksh

29. Which of the following is not a database?

a.DB2
b. Oracle
c. Smalltalk
d. Sybase
e. MS Access

30. What is the result of executing this C code?

 main()

{

int a[5]={1,2,3,4,5}; printf(“%d”,a[3]); printf(“%d”,3[a]); printf(“%d”,*(a+3)); printf(“%d”,4);

}

a.4 4 4 4
b. 3 3 3 4
c.0 0 0 4
d.1 2 3 4
e.Compilation error.

31. What is the output of the following statements?

If(r=5!=4)


Printf(“inside”);

Else



Printf(“outside”);

Printf(“%d”,r);

a.inside 5
b.inside 0
c.outside 5
d.outside 4
e.inside 4

32. Which of the these is not used for inter process communication?

a.pipe
b.queue
c.tee
d.shared memory
e.file

33. which of the following is not a processor?

a.Athlon
b.Intel
c.Pentium
d.Celeron
e.Duron

34. which of the following is the right sequence for generating and launching an executable?

a.  Preprocessing, compiling, Loading, Linking

b.  Compiling, Linking, preloading, Loading, 

c.  Preprocessing, compiling, Linking, Loading 

d.  compiling, Loading, Linking

e.  Loading,Preprocessing, compiling, Linking

35. Find the incorrect one (the one doesn’t compile)

a.int *p; b.int *p[30];  c.int(*p[30]);  d.(int *)(int, int);  e.int *p[30][30];

36.which bitwise operator is suitable for turning off a particular bit in a number?

a.OR

b.AND

c.NOT

d.A&B

e.NONE

37. What is  WEAK TYPING ?

a.  when a computer language doesn’t have a type mechanism.

b.  when a computer language doesn’t require a type mechanism.

c.  when a computer language doesn’t enforces its type mechanism.

d.  when a computer language doesn’t know about its type mechanism.

38. what is a reference ?

a. A synonym for pointer

b. another name for an object.
C.  Another name for a type.

d.  A name for any parameter to a c++ generic type.
E. none

39. Which of the following loops will never exit (assuming a variable done not have a limit on how large or small the number it can hold)?

a.   int i=0; do {i++;}while(i<10);

b.   int i=10; do {i--;if(i==0)break;}while(1);

c    int i=10; for(i=10;i<2;i++) {}

d.   int i=0; while(i<=10){i--;}

e. none

40. Consider the following pre-processor directive:

#define PRODUCT(a,b)  ((a)>(b)?(a)*(a):(b)*(b))

with values of 0 and -1 for program variables p and q respectively, what is the output of    printf(“%d”, PRODUCT(p++,q++))?

a. 0
b. 2
c. -2
d. 1
e. -1.




























